( I 9.00 [228.6]
1
1 -
L 11.25(285.7)
1 g
' |
l
h
. ' I hl '
1
4x 1.25 [31.75] O - - NOTE:
C I 1. ALL DIMENSIONS WITH [] ARE MILLIMETERS C
- 6.00 [152.4] -
8.25 [209.5]
- 5.88[149.2] -
1 SOURCE
14 | 13 ' 1 1 1. MICRO SWITCH
. - é— 621 - ROUTE 83
- - BENSENVILLE, IL. 60106
1 I PHONE: (708)-860-3968
’
(Y — 1 —
1 10 1 J . I .
3 6 7 15 - + 3
1 1 ‘—‘ I - _g_ I —$ 12
B g I I 1 I I 17 3/8-16 UNCx1-1/2'LG HHCS DRILLED HD ssT 8 B
2 17 5 =\ o= " T T z 16 3/8-16 UNCx1-1/4"LG HHCS DRILLED HD ssT 4
ropt o [ 15 1/4 x 3/4" LG DOWEL PIN ssT 6
~ I I 14 3PAL LIMIT SWITCH ENCL. (MICRO SWITCH) ALUMINUM 4
im 1 r 1 1 13 | BZ-2RQ24-A2 LIMIT SWITCH (MICRO SWITCH) 4
6 | 15 4 Py - 1 - 12 3/8 x 1" LG DOWEL PIN ssT 2
} 1S A SRR Y . < B 1 #8-32 UNC-28 HEX. NUT ssT 4
8 9 1 1 1 l 1 1 10 #8-32 UNC-2A x 5/8 LG HHCS ssT 4
B P A I 9 3/8-16 UNC-2B HEX. JAM NUT ssT 4
b U u 8 3/8-16 UNC-2A x 1" LG SOC. SET SC. ssT 4
1 l' , h i (=9 il i 7 1/4" PLAIN WASHER ssT 4
! 1 B 1 ! 6 1/4"-20 UNC x 5/8 LG HHCS DRILLED HD ssT 4
! 1 ! ! 1 1.299 [33.00] 5 3/8" LOCK WASHER ssT 8
1.40 [35.6] - 1 | 1 STROKE
4 |P4105090104-810103-01 | A4 SWITCH POSITION BRACKET SST 304 1
i I i 3 |P4105090104-810102-01 | A4 LIMIT SWITCH MTG BRACKET ALUMINUM 6061 2
2 |P4105090104-810101-01 A4 ACTUATOR MTG BRACKET SST 304 2
1 P4105090104-810104-01 | A4 SLIDE MODIFICATION 1
A18165
A . . A
o
s JG. 01/12/9DEMING SHU | 2/15/93
s
J.CHANG 2/10/93 T.M.KUZAY 2/15/93 A4 HEAVY LOAD PNEUMATIC
33 mm - 8" LINEAR ACTUATOR
GUIDED CYLINDER ASSEMBLY
02 [urDATED Rk J.CHANG 1/12/93
01 | ADDED ITEMS 2-17 JG. | JC. |7/9193 J.CHANG 2/10/93
01 | CHANGE FROM DWG. A08550 J.G. J.C. 17/9/93

1:2
11 D | P4105090104-810100-02

8 7 6 ) 4 3 2




